

①

$$\begin{array}{r} 376 \\ 2 \overline{) 752} \\ \underline{6} \phantom{00} \\ 15 \phantom{0} \\ \underline{14} \phantom{0} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 76 \\ 3 \overline{) 228} \\ \underline{21} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 208 \\ 2 \overline{) 416} \\ \underline{4} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

④

$$\begin{array}{r} 412 \\ 2 \overline{) 824} \\ \underline{8} \phantom{00} \\ 2 \phantom{00} \\ \underline{2} \phantom{00} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 193 \\ 5 \overline{) 965} \\ \underline{5} \phantom{00} \\ 46 \\ \underline{45} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 197 \\ 5 \overline{) 985} \\ \underline{5} \phantom{00} \\ 48 \\ \underline{45} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 57 \\ 6 \overline{) 342} \\ \underline{30} \phantom{0} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 408 \\ 2 \overline{) 816} \\ \underline{8} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 111 \\ 7 \overline{) 777} \\ \underline{7} \phantom{00} \\ 7 \\ \underline{7} \\ 7 \\ \underline{7} \\ 0 \end{array}$$

①

$$\begin{array}{r} 132 \\ 7 \overline{) 924} \\ \underline{7} \phantom{00} \\ 22 \phantom{0} \\ \underline{21} \phantom{0} \\ \phantom{0} 14 \\ \phantom{0} \underline{14} \\ \phantom{00} 0 \end{array}$$

②

$$\begin{array}{r} 142 \\ 4 \overline{) 568} \\ \underline{4} \phantom{00} \\ 16 \phantom{0} \\ \underline{16} \phantom{0} \\ \phantom{00} 8 \\ \phantom{00} \underline{8} \\ \phantom{000} 0 \end{array}$$

③

$$\begin{array}{r} 45 \\ 8 \overline{) 360} \\ \underline{32} \phantom{0} \\ \phantom{0} 40 \\ \phantom{0} \underline{40} \\ \phantom{000} 0 \end{array}$$

④

$$\begin{array}{r} 106 \\ 3 \overline{) 318} \\ \underline{3} \phantom{00} \\ \phantom{0} 1 \phantom{0} \\ \phantom{0} \underline{0} \phantom{0} \\ \phantom{00} 18 \\ \phantom{00} \underline{18} \\ \phantom{000} 0 \end{array}$$

⑤

$$\begin{array}{r} 341 \\ 2 \overline{) 682} \\ \underline{6} \phantom{00} \\ \phantom{0} 8 \phantom{0} \\ \phantom{0} \underline{8} \phantom{0} \\ \phantom{00} 2 \\ \phantom{00} \underline{2} \\ \phantom{000} 0 \end{array}$$

⑥

$$\begin{array}{r} 138 \\ 7 \overline{) 966} \\ \underline{7} \phantom{00} \\ 26 \phantom{0} \\ \underline{21} \phantom{0} \\ \phantom{00} 56 \\ \phantom{00} \underline{56} \\ \phantom{000} 0 \end{array}$$

⑦

$$\begin{array}{r} 197 \\ 3 \overline{) 591} \\ \underline{3} \phantom{00} \\ 29 \phantom{0} \\ \underline{27} \phantom{0} \\ \phantom{00} 21 \\ \phantom{00} \underline{21} \\ \phantom{000} 0 \end{array}$$

⑧

$$\begin{array}{r} 45 \\ 6 \overline{) 270} \\ \underline{24} \phantom{0} \\ \phantom{00} 30 \\ \phantom{00} \underline{30} \\ \phantom{000} 0 \end{array}$$

⑨

$$\begin{array}{r} 206 \\ 4 \overline{) 824} \\ \underline{8} \phantom{00} \\ \phantom{00} 2 \\ \phantom{00} \underline{0} \\ \phantom{000} 24 \\ \phantom{000} \underline{24} \\ \phantom{0000} 0 \end{array}$$



①

$$\begin{array}{r} 106 \\ 9 \overline{) 954} \\ \underline{9} \phantom{00} \\ 5 \phantom{00} \\ \underline{0} \phantom{00} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

②

$$\begin{array}{r} 111 \\ 5 \overline{) 555} \\ \underline{5} \phantom{00} \\ 5 \phantom{00} \\ \underline{5} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 265 \\ 3 \overline{) 795} \\ \underline{6} \phantom{00} \\ 19 \\ \underline{18} \phantom{00} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

④

$$\begin{array}{r} 395 \\ 2 \overline{) 790} \\ \underline{6} \phantom{00} \\ 19 \\ \underline{18} \phantom{00} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 63 \\ 5 \overline{) 315} \\ \underline{30} \phantom{00} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 105 \\ 2 \overline{) 210} \\ \underline{2} \phantom{00} \\ 1 \\ \underline{0} \phantom{00} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 111 \\ 9 \overline{) 999} \\ \underline{9} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 199 \\ 4 \overline{) 796} \\ \underline{4} \phantom{00} \\ 39 \\ \underline{36} \phantom{00} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 226 \\ 2 \overline{) 452} \\ \underline{4} \phantom{00} \\ 5 \\ \underline{4} \phantom{00} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r} 86 \\ 3 \overline{) 258} \\ \underline{24} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 108 \\ 9 \overline{) 972} \\ \underline{9} \phantom{00} \\ 7 \phantom{0} \\ \underline{0} \phantom{0} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

③

$$\begin{array}{r} 112 \\ 4 \overline{) 448} \\ \underline{4} \phantom{00} \\ 4 \phantom{0} \\ \underline{4} \phantom{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 116 \\ 8 \overline{) 928} \\ \underline{8} \phantom{00} \\ 12 \phantom{0} \\ \underline{8} \phantom{0} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 365 \\ 2 \overline{) 730} \\ \underline{6} \phantom{00} \\ 13 \phantom{0} \\ \underline{12} \phantom{0} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 32 \\ 5 \overline{) 160} \\ \underline{15} \phantom{0} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 107 \\ 5 \overline{) 535} \\ \underline{5} \phantom{00} \\ 3 \phantom{0} \\ \underline{0} \phantom{0} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 332 \\ 2 \overline{) 664} \\ \underline{6} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 147 \\ 3 \overline{) 441} \\ \underline{3} \phantom{00} \\ 14 \phantom{0} \\ \underline{12} \phantom{0} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

①

$$\begin{array}{r} 210 \\ 2 \overline{) 420} \\ \underline{4} \phantom{0} \\ 2 \phantom{0} \\ \underline{2} \phantom{0} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 0 \phantom{0} \\ \underline{0} \\ 0 \end{array}$$

②

$$\begin{array}{r} 77 \\ 5 \overline{) 385} \\ \underline{35} \phantom{0} \\ 35 \phantom{0} \\ \underline{35} \phantom{0} \\ 0 \phantom{0} \\ \underline{0} \\ 0 \end{array}$$

③

$$\begin{array}{r} 104 \\ 5 \overline{) 520} \\ \underline{5} \phantom{0} \\ 2 \phantom{0} \\ \underline{0} \phantom{0} \\ 20 \\ \underline{20} \\ 0 \phantom{0} \\ \underline{0} \\ 0 \end{array}$$

④

$$\begin{array}{r} 222 \\ 4 \overline{) 888} \\ \underline{8} \phantom{0} \\ 8 \phantom{0} \\ \underline{8} \phantom{0} \\ 8 \phantom{0} \\ \underline{8} \phantom{0} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 496 \\ 2 \overline{) 992} \\ \underline{8} \phantom{0} \\ 19 \phantom{0} \\ \underline{18} \phantom{0} \\ 12 \phantom{0} \\ \underline{12} \phantom{0} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 249 \\ 4 \overline{) 996} \\ \underline{8} \phantom{0} \\ 19 \phantom{0} \\ \underline{16} \phantom{0} \\ 36 \phantom{0} \\ \underline{36} \phantom{0} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 79 \\ 9 \overline{) 711} \\ \underline{63} \phantom{0} \\ 81 \phantom{0} \\ \underline{81} \phantom{0} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 209 \\ 2 \overline{) 418} \\ \underline{4} \phantom{0} \\ 1 \phantom{0} \\ \underline{0} \phantom{0} \\ 18 \phantom{0} \\ \underline{18} \phantom{0} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 432 \\ 2 \overline{) 864} \\ \underline{8} \phantom{0} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 4 \phantom{0} \\ \underline{4} \phantom{0} \\ 0 \end{array}$$

①

$$\begin{array}{r} 136 \\ 4 \overline{) 544} \\ \underline{4} \phantom{00} \\ 14 \phantom{0} \\ \underline{12} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

②

$$\begin{array}{r} 120 \\ 6 \overline{) 720} \\ \underline{6} \phantom{00} \\ 12 \phantom{0} \\ \underline{12} \phantom{0} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

③

$$\begin{array}{r} 53 \\ 3 \overline{) 159} \\ \underline{15} \phantom{0} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

④

$$\begin{array}{r} 105 \\ 5 \overline{) 525} \\ \underline{5} \phantom{00} \\ 2 \phantom{0} \\ \underline{0} \phantom{0} \\ 25 \\ \underline{25} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 311 \\ 3 \overline{) 933} \\ \underline{9} \phantom{00} \\ 3 \phantom{0} \\ \underline{3} \phantom{0} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 156 \\ 6 \overline{) 936} \\ \underline{6} \phantom{00} \\ 33 \\ \underline{30} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 429 \\ 2 \overline{) 858} \\ \underline{8} \phantom{00} \\ 5 \phantom{0} \\ \underline{4} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 38 \\ 8 \overline{) 304} \\ \underline{24} \phantom{0} \\ 64 \\ \underline{64} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 303 \\ 3 \overline{) 909} \\ \underline{9} \phantom{00} \\ 0 \\ \underline{0} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 421 \\ 2 \overline{) 842} \\ \underline{8} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 2 \phantom{00} \\ \underline{2} \phantom{00} \\ 0 \end{array}$$

②

$$\begin{array}{r} 236 \\ 4 \overline{) 944} \\ \underline{8} \phantom{00} \\ 14 \phantom{00} \\ \underline{12} \phantom{00} \\ 24 \phantom{00} \\ \underline{24} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 243 \\ 4 \overline{) 972} \\ \underline{8} \phantom{00} \\ 17 \phantom{00} \\ \underline{16} \phantom{00} \\ 12 \phantom{00} \\ \underline{12} \phantom{00} \\ 0 \end{array}$$

④

$$\begin{array}{r} 49 \\ 6 \overline{) 294} \\ \underline{24} \phantom{00} \\ 54 \phantom{00} \\ \underline{54} \phantom{00} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 107 \\ 9 \overline{) 963} \\ \underline{9} \phantom{00} \\ 6 \phantom{00} \\ \underline{0} \phantom{00} \\ 63 \phantom{00} \\ \underline{63} \phantom{00} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 211 \\ 4 \overline{) 844} \\ \underline{8} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 119 \\ 7 \overline{) 833} \\ \underline{7} \phantom{00} \\ 13 \phantom{00} \\ \underline{7} \phantom{00} \\ 63 \phantom{00} \\ \underline{63} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 217 \\ 2 \overline{) 434} \\ \underline{4} \phantom{00} \\ 3 \phantom{00} \\ \underline{2} \phantom{00} \\ 14 \phantom{00} \\ \underline{14} \phantom{00} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 56 \\ 6 \overline{) 336} \\ \underline{30} \phantom{00} \\ 36 \phantom{00} \\ \underline{36} \phantom{00} \\ 0 \end{array}$$

①

$$\begin{array}{r} 103 \\ 7 \overline{) 721} \\ \underline{7} \phantom{00} \\ 2 \phantom{00} \\ \underline{0} \phantom{00} \\ 21 \phantom{0} \\ \underline{21} \\ 0 \end{array}$$

②

$$\begin{array}{r} 332 \\ 3 \overline{) 996} \\ \underline{9} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \\ 0 \end{array}$$

③

$$\begin{array}{r} 196 \\ 3 \overline{) 588} \\ \underline{3} \phantom{00} \\ 28 \phantom{0} \\ \underline{27} \phantom{0} \\ 18 \phantom{0} \\ \underline{18} \\ 0 \end{array}$$

④

$$\begin{array}{r} 307 \\ 3 \overline{) 921} \\ \underline{9} \phantom{00} \\ 2 \phantom{00} \\ \underline{0} \phantom{00} \\ 21 \phantom{0} \\ \underline{21} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 61 \\ 5 \overline{) 305} \\ \underline{30} \phantom{0} \\ 5 \phantom{0} \\ \underline{5} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 208 \\ 4 \overline{) 832} \\ \underline{8} \phantom{00} \\ 3 \phantom{00} \\ \underline{0} \phantom{00} \\ 32 \phantom{0} \\ \underline{32} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 122 \\ 4 \overline{) 488} \\ \underline{4} \phantom{00} \\ 8 \phantom{00} \\ \underline{8} \phantom{00} \\ 8 \phantom{00} \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 175 \\ 3 \overline{) 525} \\ \underline{3} \phantom{00} \\ 22 \phantom{00} \\ \underline{21} \phantom{00} \\ 15 \phantom{00} \\ \underline{15} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 326 \\ 2 \overline{) 652} \\ \underline{6} \phantom{00} \\ 5 \phantom{00} \\ \underline{4} \phantom{00} \\ 12 \phantom{00} \\ \underline{12} \\ 0 \end{array}$$

①

$$\begin{array}{r} 76 \\ 5 \overline{) 380} \\ \underline{35} \phantom{0} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

②

$$\begin{array}{r} 103 \\ 6 \overline{) 618} \\ \underline{6} \phantom{00} \\ 10 \phantom{0} \\ \underline{6} \phantom{00} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

③

$$\begin{array}{r} 111 \\ 6 \overline{) 666} \\ \underline{6} \phantom{00} \\ 60 \phantom{0} \\ \underline{60} \phantom{0} \\ 60 \\ \underline{60} \\ 0 \end{array}$$

④

$$\begin{array}{r} 278 \\ 3 \overline{) 834} \\ \underline{6} \phantom{00} \\ 23 \phantom{0} \\ \underline{21} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 152 \\ 2 \overline{) 304} \\ \underline{2} \phantom{00} \\ 10 \phantom{0} \\ \underline{10} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 48 \\ 3 \overline{) 144} \\ \underline{12} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 301 \\ 3 \overline{) 903} \\ \underline{9} \phantom{00} \\ 00 \phantom{0} \\ \underline{00} \phantom{0} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 121 \\ 4 \overline{) 484} \\ \underline{4} \phantom{00} \\ 80 \phantom{0} \\ \underline{80} \phantom{0} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 122 \\ 8 \overline{) 976} \\ \underline{8} \phantom{00} \\ 17 \phantom{0} \\ \underline{16} \phantom{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

①

$$\begin{array}{r} 195 \\ 5 \overline{) 975} \\ \underline{5} \phantom{0} \\ 47 \phantom{0} \\ \underline{45} \phantom{0} \\ 25 \phantom{0} \\ \underline{25} \\ 0 \end{array}$$

②

$$\begin{array}{r} 83 \\ 3 \overline{) 249} \\ \underline{24} \phantom{0} \\ 9 \phantom{0} \\ \underline{9} \\ 0 \end{array}$$

③

$$\begin{array}{r} 102 \\ 7 \overline{) 714} \\ \underline{7} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 14 \phantom{0} \\ \underline{14} \\ 0 \end{array}$$

④

$$\begin{array}{r} 222 \\ 3 \overline{) 666} \\ \underline{6} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 249 \\ 3 \overline{) 747} \\ \underline{6} \phantom{00} \\ 14 \phantom{00} \\ \underline{12} \phantom{00} \\ 27 \phantom{00} \\ \underline{27} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 180 \\ 3 \overline{) 540} \\ \underline{3} \phantom{00} \\ 24 \phantom{00} \\ \underline{24} \phantom{00} \\ 0 \phantom{00} \\ \underline{0} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 62 \\ 8 \overline{) 496} \\ \underline{48} \phantom{0} \\ 16 \phantom{0} \\ \underline{16} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 109 \\ 6 \overline{) 654} \\ \underline{6} \phantom{00} \\ 5 \phantom{00} \\ \underline{0} \phantom{00} \\ 54 \phantom{00} \\ \underline{54} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 113 \\ 3 \overline{) 339} \\ \underline{3} \phantom{00} \\ 3 \phantom{00} \\ \underline{3} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 114 \\ 8 \overline{) 912} \\ \underline{8} \phantom{00} \\ 11 \phantom{0} \\ \underline{8} \phantom{0} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

②

$$\begin{array}{r} 328 \\ 3 \overline{) 984} \\ \underline{9} \phantom{00} \\ 8 \phantom{0} \\ \underline{6} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

③

$$\begin{array}{r} 67 \\ 9 \overline{) 603} \\ \underline{54} \phantom{0} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

④

$$\begin{array}{r} 201 \\ 2 \overline{) 402} \\ \underline{4} \phantom{00} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 232 \\ 2 \overline{) 464} \\ \underline{4} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 117 \\ 6 \overline{) 702} \\ \underline{6} \phantom{00} \\ 10 \phantom{0} \\ \underline{6} \phantom{0} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 140 \\ 2 \overline{) 280} \\ \underline{2} \phantom{00} \\ 8 \phantom{0} \\ \underline{8} \phantom{0} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 88 \\ 9 \overline{) 792} \\ \underline{72} \phantom{0} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 103 \\ 9 \overline{) 927} \\ \underline{9} \phantom{00} \\ 2 \phantom{0} \\ \underline{0} \phantom{0} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

①

$$\begin{array}{r} 223 \\ 3 \overline{) 669} \\ \underline{6} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 9 \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 0 \end{array}$$

②

$$\begin{array}{r} 387 \\ 2 \overline{) 774} \\ \underline{6} \phantom{00} \\ 17 \phantom{00} \\ \underline{16} \phantom{00} \\ 14 \phantom{00} \\ \underline{14} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 337 \\ 2 \overline{) 674} \\ \underline{6} \phantom{00} \\ 7 \phantom{00} \\ \underline{6} \phantom{00} \\ 14 \phantom{00} \\ \underline{14} \phantom{00} \\ 0 \end{array}$$

④

$$\begin{array}{r} 28 \\ 5 \overline{) 140} \\ \underline{10} \phantom{00} \\ 40 \phantom{00} \\ \underline{40} \phantom{00} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 107 \\ 7 \overline{) 749} \\ \underline{7} \phantom{00} \\ 4 \phantom{00} \\ \underline{0} \phantom{00} \\ 49 \phantom{00} \\ \underline{49} \phantom{00} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 111 \\ 4 \overline{) 444} \\ \underline{4} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 118 \\ 8 \overline{) 944} \\ \underline{8} \phantom{00} \\ 14 \phantom{00} \\ \underline{8} \phantom{00} \\ 64 \phantom{00} \\ \underline{64} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 405 \\ 2 \overline{) 810} \\ \underline{8} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 10 \phantom{00} \\ \underline{10} \phantom{00} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 69 \\ 6 \overline{) 414} \\ \underline{36} \phantom{00} \\ 54 \phantom{00} \\ \underline{54} \phantom{00} \\ 0 \end{array}$$

①

$$\begin{array}{r} 106 \\ 2 \overline{) 212} \\ \underline{2} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 231 \\ 3 \overline{) 693} \\ \underline{6} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 3 \phantom{00} \\ \underline{3} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 126 \\ 7 \overline{) 882} \\ \underline{7} \phantom{00} \\ 18 \\ \underline{14} \phantom{00} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

④

$$\begin{array}{r} 480 \\ 2 \overline{) 960} \\ \underline{8} \phantom{00} \\ 16 \\ \underline{16} \phantom{00} \\ 0 \phantom{00} \\ 0 \phantom{00} \\ \underline{0} \phantom{00} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 75 \\ 4 \overline{) 300} \\ \underline{28} \phantom{00} \\ 20 \\ \underline{20} \phantom{00} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 107 \\ 8 \overline{) 856} \\ \underline{8} \phantom{00} \\ 5 \\ \underline{0} \phantom{00} \\ 56 \\ \underline{56} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 433 \\ 2 \overline{) 866} \\ \underline{8} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 119 \\ 8 \overline{) 952} \\ \underline{8} \phantom{00} \\ 15 \\ \underline{8} \phantom{00} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 266 \\ 3 \overline{) 798} \\ \underline{6} \phantom{00} \\ 19 \\ \underline{18} \phantom{00} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

①

$$\begin{array}{r} 66 \\ 2 \overline{) 132} \\ \underline{12} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 303 \\ 2 \overline{) 606} \\ \underline{6} \\ 0 \\ 0 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

③

$$\begin{array}{r} 212 \\ 4 \overline{) 848} \\ \underline{8} \\ 4 \\ 4 \\ \underline{8} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

④

$$\begin{array}{r} 143 \\ 5 \overline{) 715} \\ \underline{5} \\ 21 \\ \underline{20} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 118 \\ 4 \overline{) 472} \\ \underline{4} \\ 7 \\ 4 \\ \underline{32} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 56 \\ 3 \overline{) 168} \\ \underline{15} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 201 \\ 3 \overline{) 603} \\ \underline{6} \\ 0 \\ 0 \\ \underline{3} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 423 \\ 2 \overline{) 846} \\ \underline{8} \\ 4 \\ 4 \\ \underline{6} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 113 \\ 8 \overline{) 904} \\ \underline{8} \\ 10 \\ 8 \\ \underline{24} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

①

$$\begin{array}{r} 181 \\ 2 \overline{) 362} \\ \underline{2} \phantom{00} \\ 16 \phantom{0} \\ \underline{16} \phantom{0} \\ 2 \phantom{0} \\ \underline{2} \phantom{0} \\ 0 \end{array}$$

②

$$\begin{array}{r} 95 \\ 6 \overline{) 570} \\ \underline{54} \phantom{0} \\ 30 \phantom{0} \\ \underline{30} \phantom{0} \\ 0 \end{array}$$

③

$$\begin{array}{r} 306 \\ 2 \overline{) 612} \\ \underline{6} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 12 \phantom{0} \\ \underline{12} \phantom{0} \\ 0 \end{array}$$

④

$$\begin{array}{r} 443 \\ 2 \overline{) 886} \\ \underline{8} \phantom{00} \\ 8 \phantom{00} \\ \underline{8} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 287 \\ 3 \overline{) 861} \\ \underline{6} \phantom{00} \\ 26 \phantom{0} \\ \underline{24} \phantom{0} \\ 21 \phantom{0} \\ \underline{21} \phantom{0} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 100 \\ 8 \overline{) 800} \\ \underline{8} \phantom{00} \\ 0 \phantom{00} \\ \underline{0} \phantom{00} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 67 \\ 2 \overline{) 134} \\ \underline{12} \phantom{0} \\ 14 \phantom{0} \\ \underline{14} \phantom{0} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 109 \\ 2 \overline{) 218} \\ \underline{2} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 18 \phantom{0} \\ \underline{18} \phantom{0} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 132 \\ 3 \overline{) 396} \\ \underline{3} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 0 \end{array}$$

①

$$\begin{array}{r} 145 \\ 6 \overline{) 870} \\ \underline{6} \phantom{0} \\ 27 \phantom{0} \\ \underline{24} \phantom{0} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

②

$$\begin{array}{r} 236 \\ 2 \overline{) 472} \\ \underline{4} \phantom{0} \\ 7 \phantom{0} \\ \underline{6} \phantom{0} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

③

$$\begin{array}{r} 49 \\ 7 \overline{) 343} \\ \underline{28} \phantom{0} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

④

$$\begin{array}{r} 101 \\ 3 \overline{) 303} \\ \underline{3} \phantom{0} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 342 \\ 2 \overline{) 684} \\ \underline{6} \phantom{0} \\ 8 \phantom{0} \\ \underline{8} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 379 \\ 2 \overline{) 758} \\ \underline{6} \phantom{0} \\ 15 \\ \underline{14} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 329 \\ 3 \overline{) 987} \\ \underline{9} \phantom{0} \\ 8 \phantom{0} \\ \underline{6} \phantom{0} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 50 \\ 7 \overline{) 350} \\ \underline{35} \phantom{0} \\ 0 \\ \underline{0} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 101 \\ 8 \overline{) 808} \\ \underline{8} \phantom{0} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

①

$$\begin{array}{r} 143 \\ 2 \overline{) 286} \\ \underline{2} \phantom{00} \\ 8 \phantom{00} \\ \underline{8} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 0 \end{array}$$

②

$$\begin{array}{r} 468 \\ 2 \overline{) 936} \\ \underline{8} \phantom{00} \\ 13 \phantom{00} \\ \underline{12} \phantom{00} \\ 16 \phantom{00} \\ \underline{16} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 189 \\ 5 \overline{) 945} \\ \underline{5} \phantom{00} \\ 44 \phantom{00} \\ \underline{40} \phantom{00} \\ 45 \phantom{00} \\ \underline{45} \phantom{00} \\ 0 \end{array}$$

④

$$\begin{array}{r} 63 \\ 8 \overline{) 504} \\ \underline{48} \phantom{00} \\ 24 \phantom{00} \\ \underline{24} \phantom{00} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 205 \\ 3 \overline{) 615} \\ \underline{6} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 15 \phantom{00} \\ \underline{15} \phantom{00} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 123 \\ 3 \overline{) 369} \\ \underline{3} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 187 \\ 2 \overline{) 374} \\ \underline{2} \phantom{00} \\ 17 \phantom{00} \\ \underline{16} \phantom{00} \\ 14 \phantom{00} \\ \underline{14} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 318 \\ 2 \overline{) 636} \\ \underline{6} \phantom{00} \\ 3 \phantom{00} \\ \underline{2} \phantom{00} \\ 16 \phantom{00} \\ \underline{16} \phantom{00} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 84 \\ 9 \overline{) 756} \\ \underline{72} \phantom{00} \\ 36 \phantom{00} \\ \underline{36} \phantom{00} \\ 0 \end{array}$$

①

$$\begin{array}{r} 203 \\ 4 \overline{) 812} \\ \underline{8} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

②

$$\begin{array}{r} 222 \\ 2 \overline{) 444} \\ \underline{4} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

③

$$\begin{array}{r} 239 \\ 4 \overline{) 956} \\ \underline{8} \phantom{00} \\ 15 \phantom{00} \\ \underline{12} \phantom{00} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

④

$$\begin{array}{r} 276 \\ 3 \overline{) 828} \\ \underline{6} \phantom{00} \\ 22 \phantom{00} \\ \underline{21} \phantom{00} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 77 \\ 9 \overline{) 693} \\ \underline{63} \phantom{00} \\ 63 \phantom{00} \\ \underline{63} \phantom{00} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 304 \\ 2 \overline{) 608} \\ \underline{6} \phantom{00} \\ 0 \phantom{00} \\ \underline{0} \phantom{00} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 224 \\ 2 \overline{) 448} \\ \underline{4} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 122 \\ 7 \overline{) 854} \\ \underline{7} \phantom{00} \\ 15 \phantom{00} \\ \underline{14} \phantom{00} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 158 \\ 2 \overline{) 316} \\ \underline{2} \phantom{00} \\ 11 \phantom{00} \\ \underline{10} \phantom{00} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

①

$$\begin{array}{r} 58 \\ 4 \overline{) 232} \\ \underline{20} \phantom{0} \\ 32 \\ \underline{32} \\ 0 \end{array}$$

②

$$\begin{array}{r} 207 \\ 3 \overline{) 621} \\ \underline{6} \phantom{00} \\ 2 \phantom{0} \\ \underline{0} \phantom{0} \\ 21 \\ \underline{21} \\ 0 \end{array}$$

③

$$\begin{array}{r} 131 \\ 2 \overline{) 262} \\ \underline{2} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 2 \phantom{0} \\ \underline{2} \phantom{0} \\ 0 \end{array}$$

④

$$\begin{array}{r} 158 \\ 6 \overline{) 948} \\ \underline{6} \phantom{00} \\ 34 \\ \underline{30} \phantom{0} \\ 48 \\ \underline{48} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 477 \\ 2 \overline{) 954} \\ \underline{8} \phantom{00} \\ 15 \\ \underline{14} \phantom{0} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 68 \\ 3 \overline{) 204} \\ \underline{18} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 104 \\ 9 \overline{) 936} \\ \underline{9} \phantom{00} \\ 3 \phantom{0} \\ \underline{0} \phantom{0} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 331 \\ 3 \overline{) 993} \\ \underline{9} \phantom{00} \\ 9 \phantom{0} \\ \underline{9} \phantom{0} \\ 3 \phantom{0} \\ \underline{3} \phantom{0} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 129 \\ 6 \overline{) 774} \\ \underline{6} \phantom{00} \\ 17 \\ \underline{12} \phantom{0} \\ 54 \\ \underline{54} \\ 0 \end{array}$$

①

$$\begin{array}{r} 139 \\ 3 \overline{) 417} \\ \underline{3} \phantom{0} \\ 11 \phantom{0} \\ \phantom{11} 9 \phantom{0} \\ \underline{\phantom{11} 9} \phantom{0} \\ \phantom{11} 27 \phantom{0} \\ \underline{\phantom{11} 27} \phantom{0} \\ \phantom{11} 0 \end{array}$$

②

$$\begin{array}{r} 95 \\ 3 \overline{) 285} \\ \underline{27} \phantom{0} \\ \phantom{27} 15 \phantom{0} \\ \underline{\phantom{27} 15} \phantom{0} \\ \phantom{27} 0 \end{array}$$

③

$$\begin{array}{r} 205 \\ 2 \overline{) 410} \\ \underline{4} \phantom{0} \\ \phantom{4} 1 \phantom{0} \\ \phantom{41} 0 \phantom{0} \\ \underline{\phantom{41} 0} \phantom{0} \\ \phantom{41} 10 \phantom{0} \\ \underline{\phantom{41} 10} \phantom{0} \\ \phantom{41} 0 \end{array}$$

④

$$\begin{array}{r} 141 \\ 2 \overline{) 282} \\ \underline{2} \phantom{0} \\ \phantom{2} 8 \phantom{0} \\ \phantom{28} 8 \phantom{0} \\ \underline{\phantom{28} 8} \phantom{0} \\ \phantom{28} 2 \phantom{0} \\ \underline{\phantom{28} 2} \phantom{0} \\ \phantom{28} 0 \end{array}$$

⑤

$$\begin{array}{r} 164 \\ 6 \overline{) 984} \\ \underline{6} \phantom{0} \\ \phantom{6} 38 \phantom{0} \\ \underline{\phantom{6} 36} \phantom{0} \\ \phantom{63} 24 \phantom{0} \\ \underline{\phantom{63} 24} \phantom{0} \\ \phantom{63} 0 \end{array}$$

⑥

$$\begin{array}{r} 166 \\ 6 \overline{) 996} \\ \underline{6} \phantom{0} \\ \phantom{6} 39 \phantom{0} \\ \underline{\phantom{6} 36} \phantom{0} \\ \phantom{63} 36 \phantom{0} \\ \underline{\phantom{63} 36} \phantom{0} \\ \phantom{63} 0 \end{array}$$

⑦

$$\begin{array}{r} 87 \\ 5 \overline{) 435} \\ \underline{40} \phantom{0} \\ \phantom{40} 35 \phantom{0} \\ \underline{\phantom{40} 35} \phantom{0} \\ \phantom{40} 0 \end{array}$$

⑧

$$\begin{array}{r} 104 \\ 8 \overline{) 832} \\ \underline{8} \phantom{0} \\ \phantom{8} 3 \phantom{0} \\ \phantom{83} 0 \phantom{0} \\ \underline{\phantom{83} 0} \phantom{0} \\ \phantom{83} 32 \phantom{0} \\ \underline{\phantom{83} 32} \phantom{0} \\ \phantom{83} 0 \end{array}$$

⑨

$$\begin{array}{r} 144 \\ 2 \overline{) 288} \\ \underline{2} \phantom{0} \\ \phantom{2} 8 \phantom{0} \\ \phantom{28} 8 \phantom{0} \\ \underline{\phantom{28} 8} \phantom{0} \\ \phantom{28} 8 \phantom{0} \\ \underline{\phantom{28} 8} \phantom{0} \\ \phantom{28} 0 \end{array}$$

①

$$\begin{array}{r} 136 \\ 7 \overline{) 952} \\ \underline{7} \phantom{00} \\ 25 \phantom{0} \\ \underline{21} \phantom{0} \\ 42 \\ \underline{42} \\ 0 \end{array}$$

②

$$\begin{array}{r} 204 \\ 3 \overline{) 612} \\ \underline{6} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

③

$$\begin{array}{r} 19 \\ 8 \overline{) 152} \\ \underline{8} \phantom{00} \\ 72 \\ \underline{72} \\ 0 \end{array}$$

④

$$\begin{array}{r} 103 \\ 8 \overline{) 824} \\ \underline{8} \phantom{00} \\ 2 \phantom{00} \\ \underline{0} \phantom{00} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 321 \\ 2 \overline{) 642} \\ \underline{6} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 489 \\ 2 \overline{) 978} \\ \underline{8} \phantom{00} \\ 17 \\ \underline{16} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 374 \\ 2 \overline{) 748} \\ \underline{6} \phantom{00} \\ 14 \\ \underline{14} \phantom{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 34 \\ 5 \overline{) 170} \\ \underline{15} \phantom{00} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 109 \\ 7 \overline{) 763} \\ \underline{7} \phantom{00} \\ 6 \\ \underline{0} \phantom{00} \\ 63 \\ \underline{63} \\ 0 \end{array}$$

①

$$\begin{array}{r} 323 \\ 3 \overline{) 969} \\ \underline{9} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 0 \end{array}$$

②

$$\begin{array}{r} 149 \\ 4 \overline{) 596} \\ \underline{4} \phantom{00} \\ 19 \phantom{00} \\ \underline{16} \phantom{00} \\ 36 \phantom{00} \\ \underline{36} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 148 \\ 5 \overline{) 740} \\ \underline{5} \phantom{00} \\ 24 \phantom{00} \\ \underline{20} \phantom{00} \\ 40 \phantom{00} \\ \underline{40} \phantom{00} \\ 0 \end{array}$$

④

$$\begin{array}{r} 97 \\ 7 \overline{) 679} \\ \underline{63} \phantom{00} \\ 49 \phantom{00} \\ \underline{49} \phantom{00} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 102 \\ 5 \overline{) 510} \\ \underline{5} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 10 \phantom{00} \\ \underline{10} \phantom{00} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 234 \\ 2 \overline{) 468} \\ \underline{4} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 8 \phantom{00} \\ \underline{8} \phantom{00} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 128 \\ 7 \overline{) 896} \\ \underline{7} \phantom{00} \\ 19 \phantom{00} \\ \underline{14} \phantom{00} \\ 56 \phantom{00} \\ \underline{56} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 174 \\ 3 \overline{) 522} \\ \underline{3} \phantom{00} \\ 22 \phantom{00} \\ \underline{21} \phantom{00} \\ 12 \phantom{00} \\ \underline{12} \phantom{00} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 61 \\ 4 \overline{) 244} \\ \underline{24} \phantom{00} \\ 4 \phantom{00} \\ \underline{4} \phantom{00} \\ 0 \end{array}$$

①

$$\begin{array}{r} 102 \\ 9 \overline{) 918} \\ \underline{9} \phantom{00} \\ 1 \phantom{00} \\ \underline{0} \phantom{00} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

②

$$\begin{array}{r} 431 \\ 2 \overline{) 862} \\ \underline{8} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 2 \phantom{00} \\ \underline{2} \phantom{00} \\ 0 \end{array}$$

③

$$\begin{array}{r} 166 \\ 4 \overline{) 664} \\ \underline{4} \phantom{00} \\ 26 \\ \underline{24} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

④

$$\begin{array}{r} 237 \\ 2 \overline{) 474} \\ \underline{4} \phantom{00} \\ 7 \phantom{00} \\ \underline{6} \phantom{00} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 47 \\ 5 \overline{) 235} \\ \underline{20} \phantom{00} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 109 \\ 4 \overline{) 436} \\ \underline{4} \phantom{00} \\ 3 \phantom{00} \\ \underline{0} \phantom{00} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 121 \\ 3 \overline{) 363} \\ \underline{3} \phantom{00} \\ 6 \phantom{00} \\ \underline{6} \phantom{00} \\ 3 \phantom{00} \\ \underline{3} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 163 \\ 4 \overline{) 652} \\ \underline{4} \phantom{00} \\ 25 \\ \underline{24} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 194 \\ 2 \overline{) 388} \\ \underline{2} \phantom{00} \\ 18 \\ \underline{18} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

①

$$\begin{array}{r} 57 \\ 5 \overline{) 285} \\ \underline{25} \phantom{0} \\ 35 \\ \underline{35} \\ 0 \end{array}$$

②

$$\begin{array}{r} 207 \\ 4 \overline{) 828} \\ \underline{8} \phantom{00} \\ 2 \phantom{0} \\ \underline{0} \phantom{0} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

③

$$\begin{array}{r} 313 \\ 2 \overline{) 626} \\ \underline{6} \phantom{00} \\ 2 \phantom{0} \\ \underline{2} \phantom{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 197 \\ 4 \overline{) 788} \\ \underline{4} \phantom{00} \\ 38 \\ \underline{36} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 453 \\ 2 \overline{) 906} \\ \underline{8} \phantom{00} \\ 10 \\ \underline{10} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 22 \\ 9 \overline{) 198} \\ \underline{18} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 209 \\ 4 \overline{) 836} \\ \underline{8} \phantom{00} \\ 3 \phantom{0} \\ \underline{0} \phantom{0} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 221 \\ 4 \overline{) 884} \\ \underline{8} \phantom{00} \\ 8 \phantom{0} \\ \underline{8} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 189 \\ 3 \overline{) 567} \\ \underline{3} \phantom{00} \\ 26 \\ \underline{24} \\ 27 \\ \underline{27} \\ 0 \end{array}$$

①

$$\begin{array}{r} 194 \\ 4 \overline{) 776} \\ \underline{4} \phantom{00} \\ 37 \phantom{0} \\ \underline{36} \phantom{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

②

$$\begin{array}{r} 48 \\ 4 \overline{) 192} \\ \underline{16} \phantom{00} \\ 32 \phantom{0} \\ \underline{32} \phantom{0} \\ 0 \end{array}$$

③

$$\begin{array}{r} 103 \\ 2 \overline{) 206} \\ \underline{2} \phantom{00} \\ 0 \phantom{00} \\ \underline{0} \phantom{00} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

④

$$\begin{array}{r} 212 \\ 3 \overline{) 636} \\ \underline{6} \phantom{00} \\ 3 \phantom{00} \\ \underline{3} \phantom{00} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 126 \\ 6 \overline{) 756} \\ \underline{6} \phantom{00} \\ 15 \phantom{00} \\ \underline{12} \phantom{00} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 285 \\ 2 \overline{) 570} \\ \underline{4} \phantom{00} \\ 17 \phantom{00} \\ \underline{16} \phantom{00} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 36 \\ 4 \overline{) 144} \\ \underline{12} \phantom{00} \\ 24 \phantom{00} \\ \underline{24} \phantom{00} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 403 \\ 2 \overline{) 806} \\ \underline{8} \phantom{00} \\ 0 \phantom{00} \\ \underline{0} \phantom{00} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 333 \\ 3 \overline{) 999} \\ \underline{9} \phantom{00} \\ 9 \phantom{00} \\ \underline{9} \phantom{00} \\ 9 \\ \underline{9} \\ 0 \end{array}$$

①

$$\begin{array}{r} 198 \\ 5 \overline{) 990} \\ \underline{5} \\ 49 \\ \underline{45} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

②

$$\begin{array}{r} 176 \\ 4 \overline{) 704} \\ \underline{4} \\ 30 \\ \underline{28} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

③

$$\begin{array}{r} 25 \\ 4 \overline{) 100} \\ \underline{8} \\ 20 \\ \underline{20} \\ 0 \end{array}$$

④

$$\begin{array}{r} 202 \\ 3 \overline{) 606} \\ \underline{6} \\ 00 \\ \underline{00} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 124 \\ 2 \overline{) 248} \\ \underline{2} \\ 4 \\ \underline{4} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 146 \\ 5 \overline{) 730} \\ \underline{5} \\ 23 \\ \underline{20} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 171 \\ 4 \overline{) 684} \\ \underline{4} \\ 28 \\ \underline{28} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 34 \\ 7 \overline{) 238} \\ \underline{21} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 106 \\ 6 \overline{) 636} \\ \underline{6} \\ 3 \\ \underline{0} \\ 36 \\ \underline{36} \\ 0 \end{array}$$

①

$$\begin{array}{r} 231 \\ 2 \overline{) 462} \\ \underline{4} \phantom{00} \\ 6 \phantom{0} \\ \underline{6} \phantom{0} \\ 2 \\ \underline{2} \\ 0 \end{array}$$

②

$$\begin{array}{r} 123 \\ 8 \overline{) 984} \\ \underline{8} \phantom{00} \\ 18 \phantom{0} \\ \underline{16} \phantom{0} \\ 24 \\ \underline{24} \\ 0 \end{array}$$

③

$$\begin{array}{r} 202 \\ 2 \overline{) 404} \\ \underline{4} \phantom{00} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

④

$$\begin{array}{r} 43 \\ 5 \overline{) 215} \\ \underline{20} \phantom{0} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 201 \\ 4 \overline{) 804} \\ \underline{8} \phantom{00} \\ 0 \phantom{0} \\ \underline{0} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 424 \\ 2 \overline{) 848} \\ \underline{8} \phantom{00} \\ 4 \phantom{0} \\ \underline{4} \phantom{0} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 142 \\ 7 \overline{) 994} \\ \underline{7} \phantom{00} \\ 29 \phantom{0} \\ \underline{28} \phantom{0} \\ 14 \\ \underline{14} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 335 \\ 2 \overline{) 670} \\ \underline{6} \phantom{00} \\ 7 \phantom{0} \\ \underline{6} \phantom{0} \\ 10 \\ \underline{10} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 53 \\ 6 \overline{) 318} \\ \underline{30} \phantom{0} \\ 18 \\ \underline{18} \\ 0 \end{array}$$

①

$$\begin{array}{r} 104 \\ 7 \overline{) 728} \\ \underline{7} \phantom{00} \\ 2 \phantom{00} \\ 0 \phantom{00} \\ \underline{28} \phantom{0} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

②

$$\begin{array}{r} 321 \\ 3 \overline{) 963} \\ \underline{9} \phantom{00} \\ 6 \phantom{00} \\ 6 \phantom{00} \\ \underline{3} \phantom{0} \\ 3 \\ \underline{3} \\ 0 \end{array}$$

③

$$\begin{array}{r} 165 \\ 6 \overline{) 990} \\ \underline{6} \phantom{00} \\ 39 \\ \underline{36} \phantom{0} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

④

$$\begin{array}{r} 394 \\ 2 \overline{) 788} \\ \underline{6} \phantom{00} \\ 18 \\ \underline{18} \phantom{00} \\ 8 \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 97 \\ 4 \overline{) 388} \\ \underline{36} \phantom{00} \\ 28 \\ \underline{28} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 102 \\ 8 \overline{) 816} \\ \underline{8} \phantom{00} \\ 1 \\ 0 \\ \underline{16} \phantom{0} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 312 \\ 3 \overline{) 936} \\ \underline{9} \phantom{00} \\ 3 \phantom{00} \\ 3 \phantom{00} \\ \underline{6} \phantom{0} \\ 6 \\ \underline{6} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 135 \\ 3 \overline{) 405} \\ \underline{3} \phantom{00} \\ 10 \\ 9 \\ \underline{15} \phantom{0} \\ 15 \\ \underline{15} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 191 \\ 5 \overline{) 955} \\ \underline{5} \phantom{00} \\ 45 \\ \underline{45} \phantom{00} \\ 5 \\ 5 \\ \underline{5} \\ 0 \end{array}$$

①

$$\begin{array}{r} 62 \\ 2 \overline{) 124} \\ \underline{12} \phantom{0} \\ 4 \\ \underline{4} \\ 0 \end{array}$$

②

$$\begin{array}{r} 304 \\ 3 \overline{) 912} \\ \underline{9} \phantom{00} \\ 10 \\ \underline{9} \phantom{0} \\ 12 \\ \underline{12} \\ 0 \end{array}$$

③

$$\begin{array}{r} 311 \\ 2 \overline{) 622} \\ \underline{6} \phantom{00} \\ 22 \\ \underline{22} \\ 0 \end{array}$$

④

$$\begin{array}{r} 155 \\ 6 \overline{) 930} \\ \underline{6} \phantom{00} \\ 33 \\ \underline{30} \\ 30 \\ \underline{30} \\ 0 \end{array}$$

⑤

$$\begin{array}{r} 254 \\ 2 \overline{) 508} \\ \underline{4} \phantom{00} \\ 10 \\ \underline{10} \\ 8 \\ \underline{8} \\ 0 \end{array}$$

⑥

$$\begin{array}{r} 85 \\ 8 \overline{) 680} \\ \underline{64} \phantom{0} \\ 40 \\ \underline{40} \\ 0 \end{array}$$

⑦

$$\begin{array}{r} 104 \\ 4 \overline{) 416} \\ \underline{4} \phantom{00} \\ 10 \\ \underline{10} \\ 16 \\ \underline{16} \\ 0 \end{array}$$

⑧

$$\begin{array}{r} 323 \\ 2 \overline{) 646} \\ \underline{6} \phantom{00} \\ 44 \\ \underline{44} \\ 66 \\ \underline{66} \\ 0 \end{array}$$

⑨

$$\begin{array}{r} 135 \\ 7 \overline{) 945} \\ \underline{7} \phantom{00} \\ 24 \\ \underline{21} \\ 35 \\ \underline{35} \\ 0 \end{array}$$